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Binomial Products

A binomial is two terms. For example: Q4 + 3j , ZK?' 4%

T + |

When finding the product of two binomials, we can find the product by either of the

following methods: - o
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B. Multiply o\l of the terms in the first brackets, l-)y all of the
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Common Factoring

When common factoring, you must look for the cha'h_; 1 (QM,.,DA Fu,for
(GCF). An algebraic expression has been fully factored once 1 or -1 is the only

common factor left. w/ numwbers
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A quadratic expression in the form x2 + bx + ¢ can be factored into two binomials of
the form (x + r)and (x +s),when (+ S =band { X & =c.

Why does this work? Look at what happens when we ermmgl the following
expression:
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Note: You can use the signs of b and c to determine r and s
Trinomial Factors
b and c are positive. x+nNx+5)

b is negative, and c is positive. | (x — r)(x — s)
b and c are negative. (x = n(x +s), wherer>s

b is positive, and c is negative. | (x + r)(x — s), wherer > s
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@ Special Cases

A. Differences of Squares

Let's look at expanding first:

(5n — 3)(5n + 3) (7x—4)(Tx + 4)
. 26wrrlfa-15a -9 2 490" v 28y - A8k — o
= &fn - ('l ;‘("I')cl" “ﬂ

In the examples above, try figuring out how to work backwards from the last step to
the first step.

Difference of Squares- the polynomial must be a Linomia |
- the 1st and 2nd terms must be perfect squares
- there must be a miang  sign between the two terms
- Answerto g - b* is (0\ —bY(atb)
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B. Perfect Squares

Let's look at expanding First:

(5n + 3)? (7x — 4)?
- @“*E)i(“*g) :(7:# ‘f)(??t"i)
= JSa"H IS +15n +9 - L’I‘h'” 20~ ~2f‘f’”‘?
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= 2Sa* +30n +9 *'ﬁxa sbx +e

In the examples above, try figuring out how to work backwards from the last step to
the first step.

2 3
- the polynomial must be of the form_a x4 2051 + Io' Answer: (a ’r(o)

or a'x* - Jabx + bt Answer:_(a-b)*

_ Remember to check _dab by expanding
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A quadratic expression in the form ax2? + bx + ¢, where 27 1 can be factored using

DeCo P .‘oos L Hon

When using decomposition, you need to look for two numbers, p and g, that add to
b and multiply to 2>C .

Example:

!
20x* —7x—6 . -\j—r 3,3, " _\Le Steps:
/™ i X =7 e 1. Find two numbers, p and ¢, that
\ o .

2. . 7ot - 155t 9~ 5 (f«a multiply to (ac) and add to b
° SO 2. Decompose the middle term into

- | 5[, v¢ the two numbers px and gx

3 3. Common factor the 1st and 2nd half
¢ = (Sx4)(Yn-3)
' 4. Leftovers and Brackets
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